Opérations avec deux fractions mixtes (A)

Nom:

W

o

o

Date:

Calculez chaque résultat.

1 .1
5-—1= =
9 9
55-1Z =
4 8
-+ 22— =
5275
5o +5- =
52 -3 =
14
Zx]l— =
°3 %177
52 +32 =
1 .5
5-x 1= =
2 %19
1.1
5-x 1= =
2773
2 2
55 +52 =
3773

Note:
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Opérations avec deux fractions mixtes (A) Réponses

Nom: Date: Note:

Calculez chaque résultat.

1 46 10 46 10 36 4
Lyt T9g g TS99 T 9 =7 74
, s2_ (2 _ 2 _ 7 _ 27 7 _ 20 _ 4 _
5 5 5 5 5 5 1
, s2,.,8 29 38 _ 87 38 _ 12 _ 2 _ .1
5 15 5 15 15 15 15 =~ 3
, 0.3 4. 38 4l 7 287 43
7 7 7 38 266 38 38
35 7 35 21 14 7
%R T s T2T e T T 6 T3 T3
o shygA 16 21 336 12 10
3 17 3 717 51 17 17
3 23 23 23 7 161 7 3
LT T YT T X3 T T 1 Tl
1 5 11 14 154 77 5
Bogxlg =5X9g = 33 T 9 T8
1 1 11 4 44 22 1
Pogxly = gx3 = g T3 =73
2 2 17 17 17 3 51
10 55—55 —?—? —?Xﬁ = ﬁ = 1
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